Signaling vs. No Trump Contracts – Quiz
Assume that you are defending 3NT in the East position (the bidding has gone 1NT – 3NT). In each case, you are given your partner’s opening lead, and you need to decide which card you should normally play. You are playing UDCA (of course).

I.




North

           
♠ 7 3



West





East (you)


           
♠ A




         
a. ♠ Q 8 2
______









b. ♠ T 6 4
______









c. ♠ 9 6 5 2
______









d. ♠ 8 6
______









e. ♠ J 9 6
______









f. ♠ K 9 5
______

II.


North

           
♠ 7 3



West





East (you)


           
♠ K




           
a. ♠ J 8 2
______









b. ♠ A 8
______









c. ♠ J 6

______









d. ♠ Q 6 2
______









e. ♠ 9 5 2
______









f. ♠ 8 2

______

III.

North

           
♠ 7 3



West





East (you)


           
♠ Q




           
a. ♠ K 5
______









b. ♠ K 8 6 2
______









c. ♠ A 4
______









d. ♠ T 2
______









e. ♠ 8 5 4
______









f. ♠ A 8 2
______

IV.

North

           
♠ 7 3



West





East (you)


           
♠ T




           
a. ♠ K J 5
______









b. ♠ K Q 5
______









c. ♠ A 8 2
______









d. ♠ K 6
______









e. ♠ Q 8 6 5
______









f. ♠ A Q J 8 2
______

V.

North

          
♠ Q 6

           
♥ 8 6 3

           
♦ K J T 9 3 

           
♣ 8 5 3



West





East  (you)

           
♥ J




           
♠ K T 9 8


           




           

♥ 4 2


           




           

♦ A 7 2







           

♣ J T 9 7






South





           
♥ K




Your partner leads the ♥J, you play the Four, and declarer wins the King. Declarer plays the ♦Q, partner the ♦8, and dummy overtakes with the ♦K. Plan your defense.

VI.

North

          
♠ 7 4

           
♥ A 3

           
♦ 7 6 3 

           
♣ A K J 9 7 3



West





East  (you)

           
♠ J




           
♠ A 8 2


           




           

♥ Q J T 6


           




           

♦ T 8 5







           

♣ T 5 2






South





           
♠ 5




West leads the ♠ J. Plan your defense.

VII.

North

          
♠ Q T 9

           
♥ K 2

           
♦ J T 9 4 

           
♣ A 8 7 6



West  (you)





East  

           
♠ A J 7 6 5




           
♠ 8


           
♥ J T 3



           




           
♦ K 5



           





♣ 9 3 2













           
South





           
♠ 4




You lead the ♠6 and dummy’s ♠9 wins the trick, partner playing the ♠8 and declarer playing the ♠4. The ♦ J is led from dummy at trick two, partner playing the ♦2 and you win the ♦K. Now what?

Signaling vs. No Trump Contracts – UDCA Solutions

I.
a.
The Queen
Partner is asking you to pitch your honor if you have one, so do it!


b.
The Ten

High from three small when partner leads the Ace. You are giving count.


c.
The Five

2nd  lowest from four small when partner leads the Ace. Again giving count. (Your second play is 





usually next up the line, in this case, the Seven).


d.
The Six

Low from a Doubleton when the Ace is led.


e.
The Jack

The Jack or better is considered an honor when partner leads the Ace against No Trump


f.
The King
If you play the 5, your partner will play you for a doubleton. Do what partner asks!

II.
a.
The Deuce
Showing an honor, either the Jack, Queen, or Ace


b.
The Ace

Unblocking so your partner can run his suit.


c.
The Six

Easy with UDCA. 


d.
The Deuce
Showing an honor.


e.
The Nine
Denying an honor.


f.
The Eight
Denying an honor. Remember, you give count only when partner leads an Ace, or when dummy 





wins a spot lead with a Queen or less.  Your play here is attitude.

III.


a.
The King
To unblock the suit for partner


b.
The Deuce
Showing either the Ace, King, or Ten


c.
The Ace

To unblock


d.
The Ten

Partner should have at least the ♠QJ9 to lead the Queen, so the Ten should not cost a trick. West 





wants to know where the Ten is, so show him. With three or more cards, East would signal with 





his lowest card, e.g. ♠T 7 5 2

e.
The Eight
Denying an honor


f.
The Deuce
Usually better than the Ace, because declarer may be reluctant to hold up the King if he is 





uncertain as to the location of the Ace.

IV.
a.
The King
To start an unblock. Declarer has ♠AQ, but we have to start unblocking as partner probably has





something like ♠T98xx (hopefully with an entry or two somewhere). 


b.
The Queen
Either declarer has ♠AJ or partner does. We shall soon see.


c.
The Ace

Partner is very likely to hold ♠KJT. With no direct evidence to the contrary, play him for it.


d.
The King
In case partner has ♠AJT. If this loses to the Ace, you will know declarer has ♠AQJ


e.
The Five

If partner has the ♠KJT or ♠AJT he will know who has the Queen. If partner is leading from top of

a sequence, declarer is going to win the Ace, King and Jack no matter what you do. 


f.
The Deuce
Partner has made an unusually good lead (for a change), and you should let him know. 

V.




North

          
♠ Q 6

           
♥ 8 6 3

           
♦ K J T 9 3 

           
♣ 8 5 3



West





East  (you)

           
♠ 7 3 2




           
♠ K T 9 8


           
♥ J T 9 7



           

♥ 4 2


           
♦ 8 6 4



           

♦ A 7 2



♣ Q 6 2



           

♣ J T 9 7






South





           
♠ A J 5 4


South
West
North
East





♥ A K Q 5

   
 2 NT
  P
 3NT
 All Pass






♦ Q 5






♣ A K 4

Partner’s play of the ♦8 (his highest) has shown exactly three cards, therefore declarer has two diamonds. Plan to win the 2nd round of diamonds. At that point shift to the ♣ J (a heart is probably ok too). You know there is little future in the heart suit, as declarer is marked with ♥ A K Q (♥J denied a higher honor). Declarer is in big trouble and can not make the hand at this point if the defense defends correctly. His best bet is to lead toward the ♠Q hoping to find the ♠K with West. As the cards lie, he can make a sneaky play of the ♠J from his hand trying to entice you to take it, but if you are smart enough to be playing J denies higher, and using the count signal, you aren’t going to fall for it. Note how easy the hand is for declarer if you either take the first diamond, or allow him to steal two diamond tricks. In the first case he has 11 tricks, in the second case, he has 9. 
VI.




North

          
♠ 7 4

           
♥ A 3

           
♦ 7 6 3 

           
♣ A K J 9 7 3



West





East  (you)

           
♠ J T 9 6 3



           
♠ A 8 2


           
♥ 9 8 7





♥ Q J T 6


           
♦ A Q J 4



           
♦ T 8 5



♣ Q



           

♣ T 5 2






South





           
♠ K Q 5









♥ K 5 4 2
   







♦ K 9 2








♣ 8 6 4

From partner’s lead of the ♠J, you know declarer has both the ♠KQ, six club tricks, and at least the ♥A. In other words, outside of the diamond suit, declarer has at least nine tricks that you can SEE! Therefore the only hope is to take 4 diamond tricks before declarer gets the lead. A low diamond return will not be enough. Partner is going to need at least ♦AQJx or ♦ AKJx. In either case, it is safe to lead the ♦10, and in this hand it is mandatory. If any other diamond is led, declarer simply ducks the lead into partner’s hand and he will be unable to run the suit. Notice how important it was to know what partner had in spades. Playing traditionally East has to guess whether to return a spade or a diamond. Even great players like you sometimes guess wrong when they don’t know what partner has!

VII.

North

          
♠ Q T 9

           
♥ K 2

           
♦ J T 9 4 

           
♣ A 8 7 6



West  (you)





East  

           
♠ A J 7 6 5




           
♠ 8 3 2


           
♥ J T 3



           


♥ Q 9 8 7 6


           
♦ K 5



           


♦ 8 3 2



♣ 9 3 2






♣ K 5





           
South





           
♠ K 4









♥ A 5 4

   







♦ A Q 7 6






♣ Q J T 4

Partner’s play of the ♠8 at trick one has indicated 3 small cards in the suit. Therefore the best chance to defeat the contract is to hope partner has a club trick and return a small spade, leaving one spade in partner’s hand in case he has an entry. With the actual lie of the cards, declarer will be forced to take a club finesse, and the subsequent spade return will defeat the contract one trick. Notice how important it is to know HOW MANY spades partner holds. If partner plays a lower spade at trick one, showing a doubleton, you have to reverse tactics and try to defeat the contract in the heart suit, for your spade suit is dead if partner holds a doubleton.

Two Toughies:








A:

North




B:


North

♠ T 4 3







♠ 8 3





♥ A Q 5







♥ J 9 5 2

♦ 7 5 







♦ K Q J T 

♣ K Q J T 4






♣ T 9 4


West  (you)


East  



West  (you)


East
♠ 6 5



♦ 4



♠ Q J T



♦ 2
♥ 7 3 2



           



♥ K 4

♦ A K J 6 3 2



           


♦ 7 6 4 

♣ 7 3


South
West
North
East

♣ A 8 7 6 5





South
1NT
  P
 3NT
All Pass



South




♦ 10







  ♠ 2


You lead the ♦A, partner playing the 4 and declarer the 10.


You lead the ♠Q against 4S. Partner discards the ♦2 and declarer lets you

What do you do next? 





hold the trick.  What’s your next move? 
South	West	North	East


   P	   P	  1C	   P


 2NT	   P	 3NT	All Pass





South	West	North	East


 2NT	   P	 3NT	All Pass





South	West	North	East


 1NT	   P	 3NT	All Pass





South	West	North	East


   P	  P	  1C	   P


 2NT	  P	 3NT	All Pass





South	West	North	East


 2NT	  P	 3NT	All Pass




















South	West	North	East


 1NT	  P	 3NT	All Pass





South	West	North	East


  1S	   P	 1NT	   P


  4S	All Pass








South	West	North	East


 1NT	   P	 3NT	All Pass








